
5.20       1)   

Έχουμε  

   
 

f x 3f x 3
7 7 f x 3 7 x 1

x 1 x 1


       

 
 

   7 x 1 f x 3 7 x 1 7 x 1 3 f x 7 x 1 3              

Οπότε 

 

 

 

 

x 1

κριτήριο παρεμβολής

x 1 x 1

lim 7 x 1 3 7 0 3 3

lim 7 x 1 3 7 0 3 3 limf x 3

7 x 1 3 f x 7 x 1 3



 

       



       

      


 

 

5.20       2)   

Έχουμε  

   
 

f x 5f x 5
3 3 f x 5 3 x

x x


        

   3 x f x 5 3 x 3 x 5 f x 3 x 5          

Οπότε 

 

 

 

 

x 0

κριτήριο παρεμβολής

x 0 x 0

lim 3 x 5 3 0 5 5

lim 3 x 5 3 0 5 5 limf x 5

3 x 5 f x 3 x 5



 

       



        

    


 

 


